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fga. Pt / ELECTRICAL ENGINEERING
Which of the following motors has no winding on its rotor?

(A) Single phase [nductmn (B) DC shunt
) Hysteresis (D) Universal
=1 & fpa A & e d BE Fosad TE BT P
(A) U BT URoT B) =M T
(C) REBEeRfaa ' (D) <\wEAaf>w
- Magnetic cores are made up of thin lightly insulated lamination to reduce-
(A) Power factor (B) Hysteresis loss -
(C) Load loss \/('If) Eddy current loss

BT HIF BH BY v _
B g § o - B

(C) «rs o (D)Q:é’rmm

Swamp resistance and condenser are used
(A) To reduce the error while measuring DC quantities in a movmg iron
instrument

instrument

D W To reduce the error wh:le measuring AC quantities in a moving iron

4

®

s

&

(C) To reduce the error while mé.asuring_ DC quantities in a moving coil
instrument

(D) None of the above

(A)aﬂaﬁgmaﬁﬁmwg%aﬁzﬁqma%ﬁmﬁsmm%

@)W%Wﬁmwzﬁﬁmwﬁﬁmm
ST & :

(©) wm@maﬁmﬁ?wﬁwwﬁ%%ﬂmm%

D) TTH | PIg TGS

Rheostatic braking cannot be used in which of the following motors?

...4(?() Synchronous (B) Induction
(C) DC (D) None of the above
W&%mmﬁﬂﬁﬁﬁﬂwﬁaﬁﬂﬁﬁw
(A) goawmifas - (B) 3T
©) =M D) T F§ P TG
A transformer works on the principle of -
(A) Self induction (B) Mutual induction
(C) Relative iduction (D) Comyparative induction
Upr gieppR Fea 89 4 fea Rera = sl swar 22
(A) T s—=aTH B) YR TS
(C) Rafea ssazm D) FRIea g—sa=H

EJE-2015/ 1_D ] 47 ' [ P.T.O.


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


A AR / LDLEAEC L KILAL ENUANERESCLNG

6 Following is not an advantage of a permanent magnet moving coil instrument
(A) It has a uniform scale :
a=kB) It can be used without error for a long period of time
(C) It has good damping torque
(D) Its range can be easily extended
meaﬁmmﬁﬁmﬁ%aﬁﬂwmﬁ
(wraen) «&r fAear 3
(A) TH®T Y91 EH®Y BT B
B) sEHT W =1 gfe 3 o wwa o fSar sowemar 2
(C) SHDT A< JATHY 3BT BAT B
(D) THEPH W & A ¥ R fFar o wsar 8
7 A three phase Induction motor always
L) Works at lagging power factor
(B) Works at leading power factor
(C) Works at maximum (i.e. unity) power factor
(D) The power factor keeps changing with the load
TH ol URoT AeR sHRI G
(A) uTEETE wifRT Ui OR Bl Bl @
B) I ofdT U R HiE BRI B
(C) fSmaw (1) v [ore R FRd SR B
(D) =feRa qorp Hiex B AR & AT g9aal I8dl 8
8 In DC machines the value of A equals to 2
(A) For Lab winding ) For wave winding
(C) For Field winding (D) For Armature winding
S "7 # A HT AA 2 BT B
(A) <9 aEfST =g (B) ¥ aEfET ¥G
(©) dWics adEFEST B8g (D) 3RA=R aiEfET 3G
9,,\ The internal resistance of a voltmeter is 20,000 ohms. If this voltmeter is
connected in series with a resistance and a 220 volt supply is connected
across the combination, the voltmeter reads 200 volts The value of the
resistance is
Us dleccdier w1 IfalRe ufkReEr 20,000 3iM 81 98 #Wex U 39
ufeRker & @O Sivfisg 81 U 220 dRe @) oy @A M W
200 dlee Ugdl o | 3rsa YR & "= & 7
(A) 200 Q (B) 4000 Q
»~C) 2000 Q (D) 20,000 Q
10 The supplier shall provide and maintain for the consumer’s use a suitable

earthed terminal in an accessible position at or mear the point of
commencement of supply. Which IE rule states that? ;

mﬁwﬁﬁwmﬁﬁﬁgﬁmmw
Wmmwmﬁm|uﬁaﬁawmﬁwﬂ%?
(A) IE 33 B) IE 61

©) IE 67 (D) 1IE 88
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faga §8PFmitt./ ELECTRICAL ENGINEERING
A series motor must never be allowed to run at

~X) No load (B) Full load

(C) Half load (D) None of them .

THp GNS "HieY pT HET 0 e § 9§ fdu uvw A8t meEr "mifae v
(A) =T &S B) ® IS

(C) sB% s (D) T | PHIg A8t

12 In a thermal power plant, feed water heaters, super heaters and air preheaters
are mainly used to

(A) Have a better dust removal in the plant

(B) Have a better Ash removal in the plant
w Increase the efficiency of the plant

(D) None of the above

fpar S 8 gmaan

(A) HI—= # dsav g w89
B) = # 9ax wg HddH 'g
(C) <I=3 &l Q& d¢r Bq

M) T8 | P18 Fd

13  Which among the following is not an electric braking method for a motor?

(A) Rheostatic (B) Regenerative
\‘(‘Qj' Hydraulic (D) Plugging
ﬁmﬁ%ﬁwﬁaﬁﬁw%mﬁﬁmﬂﬁ%?
A deieefes B)  YgHSEE
(©) wdix D) wAfHaT
14 The characteristic impedance of a loss less line in called. o
' (A) Leakage impedance ' (B) Peak impedance S __\-__—_:,. -
(C) Small impedance \G# Surge impedance < b~ =
s ' fBa Ea d dracRics siisH &Y FHad & 7
(A) s s¥NS=| B) Y sEsS=H
(C) & A4 _ D) woi S
15 For what value of R; (in ohms), it receives maximum power? . L
30 40 %) \
| : -
|
aav-:;;i:-_ 60 | $1|, "Ry
(PSS SRS S
Bﬂﬁf%iaﬁRLaﬁﬁmrnﬁw qEaN gt swIm P
(A) 5 Q ) 6 Q
(C) 4 Q D 7 Q
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fga whfaftt / ELECTRECAL ENGINEERING
High voltage cables which are used for 132KV for these: core’s are
(A) Oil filled cable (B) SL cable '
(C) Gas pressure cable (D) Behed cable

ﬁmmﬁmﬁ%gzﬁaaﬁqmﬁmzxvaaswa’mm
I BfRw =T @ B ?

A a1 gRa fas @B) SL aRka

(©) = T" afae | (D) ufeea a3fa=

Arc voltage is given by equation
3P dreest w1 "AFE e '

A 7 @ e =Ax B-fi
i o e P + B
© %= PO/
The current through a 2€) resister will be <R
nE \3% W

4v : . SA : x&’\'h ’// '\‘f"'-"— _
Lo~}

e fors A, mﬁmmwmv

«©y Cannot be determined ,\_‘ij' 5 A % W T e : -.
JH8t fAysrar Sir "Waedr

Through which source is maximum elactncity generated in the world'?

(A) Water s :\Jﬁs Nuclear power . N
(C) Coal * @) Solar power Ly
'Wﬁm@rmﬁmﬁﬁﬁﬁqm%mﬁwﬁ%7

(A urh B) G
(©) T )

If 5, 10 & 15 ohms resistance are connected in parallel, the combined
resistance is _ ohms.

afy s, 1oﬁ1sm$mwﬁ@%ﬁm
(A) 15 4 . (®B) 10 r b

©) 5 ' 07 2.73
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fga ShfP@far / ELECTRICAL ENGINEERING
t 28, The mechanical test is' done on which type of insulator? =

"\ (A) Shackle type . Yy Pin type
(C) Strain type - (D) Suspension type
mﬁlﬂsu{’r&mm&ﬁﬁmmiﬁwmﬁmﬂw%?
(A) TFA UERY B) B9 <=y
(C) famfy gy (D) S[ET (FTdHT B/I)M) U™
22  Separately excited and self-excited are types of which machine?
\aﬁg DC machine (B) Synchronous machine
(C) Induction machine (D) None of the above
SqECen SaEIsce Ud Joh sHAlsesS A W UpR B "IN B TSR
B & 7
(A) =S #73h= (B) doawiferes ===
(C) URoT HINH (D) S7H | HIF A8

23 In terms of relays, IDMT relays stands for

"(A) Inverse direct maximum time lag
\wsfB) Inverse definite minimum time lag

(CY) Inverse definite maximum tune lag
(D) None of these
Rar & wWdg & IDMT =7 8 ?
(A) 359 SRge AfFasH eESd A
(B) svw Sfhe f&fawm eda o

(©) s<u e Afasw a—:%rr T

? (D) TFH | HIE A8

24 In a three phase Induction motor normally
" The rotor rotates in the direction of the rotating magnetic field.
~(B) The rotor rotates against the direction of the rotatmg magnetlc field
(C) The rotor rotates depending upon the supply given to it
(D) The direction of rotor rotation does not depend upon the phase sequence
of the stator supply.
et GRor Hrew ® S\t
(A) ﬂ%&?ﬁﬁwﬁawﬁmaﬁaaﬁﬁﬁsﬂﬁﬁwqwm%
@) =R # Fafaa ool e & & [{uda fawsn # Jex gEar @
(C) Nex # & 8 "E P MR uX IAeY gHEAT B
(D) X B gHA & faem wWer aond B B IEpH ux el =98
W B
25 Value of V,; will be-
V. @I HF S8R

B

V. a
i ' sy L me N Ve o " e
| T en ’ ‘ AR SN g

_ T E e i o0 e

s E* =20 S70 - o N fla. 4’“ = °
| ' e x

: S 6 QX w2
(A) 2V (B) av q\l-—»"ﬁ‘ 3 R

(C) -14V Py -2V 0
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fage <hiftafin / ELECTRICAL ENGINEERING
26 The equation of velocity of propagation in transmission lines is given by-

oiafes end=a #§ WieE 3 &7 °941

Ay V= . B) I'= =
L &
. <
) V= JL('." D) V= A
ig ANy LW llxtCsl{ltlUli WL 4 L3EL ONT lJIl'ClDC Fa il B if.E0W) ] YVILIE LI LIERAREIRCT .:_‘,uu H::&.]unca
which quantities to be same?
N \
(A) Voltage (B) ™~ Frequency
(C) Phase sequence (D) All of the above

FHel geudifors SFRey @ o+ fiis 8§ Ssa uv & & & o= @
JRET A S E=mew ?
(A) drees (B) smgfy
(C) WS 3IHH (D) Suygad |
28 The resistance Ry, will be: ‘
gfaRer R, &1 A B8R P

50 . A
e T | . B

200
100 2400

b

)y 12 Q (B) 16 © | | M;‘-“M,w
(©) 10 Q (D) 20

29 One AU equals to
# TUHh AU &T HiA &l 8 7

(A) 108m (B) 10%cm
(C) 10%8cm (D) 101%m
30 Which one of the following is not a fractional horse power motor?
ag#%) Shaded Pole motor (B) Repulsion motor
(C) Universal motor _ (D) Synchronous motor
e # @ U Baeeel BNidfar HWiew 98 & 7
(A) I3 g Hew B) ufreder Hiex

(C) e #Hiew (D) gEFsifae #Hiey
EJE-2015 / 1I_D ] &2 : [ P.T.O.
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YA TANHGINT / ELECITKICAL ENGINEEKING
The value of "R in the circuit is

- =
,-,)O
_ s AAA o o
+ 10V - 10Q ’
a9 . ,(\ ﬁo‘ /’%
1 1}V gttt RO _7e & ‘/’
M

Qg 2y # R T "HME OBRT P

(A) 10 Q B) 5 2
\a\'() 25 10 (D) Cannot be found
T8 Fiwren ST Eadan
Incandescent lamp is
(A} Tube light p‘ ) Buib
C ; Sodium lamp (D) None of these
f Rshede o Brar & 7
(A) TYd o= (B) wod
(C) WfsSIa aw . (D) sTFH | B A8

33 The machine in which energy transfer happens both through induction and
conduction, is called
(A)Y Two winding transformer
Auto transformer
(C) Three phase Induction motor
(D) Single phase Induction motor
agtw“mf“‘mﬁw?maw-m ﬁwqa"r:rram (Waﬁm)aﬁ?‘r%éﬁm
& W A9 o8 ?

(A) ®T THTSell giamHER (B) 3fel giEwFR
(C) s URoT Hiexw . (D) TP Hol URUT AR
%34 The voltage Vi, in the figure will be_-
VL ii— _____ Oa
V== _
6" 4} b
v _
gast fErm #@ OV, @1 "wE osen ¢
W™ 3 volis (@ree) (B) 7 Volts (@ree)
(C) -3 Volts (A=) (D) O Volts (dree) _
35 In the case of three core flexible cable the colour of the neutral is
(A} Black (B) Blue
(C) Brown (D) Green . =
M= TR yoRIsH a9 H Ygd &I 7 Brar 8 7?0 :
 (A) =TT (B) Nr&n '
(C) 39 (D) B3
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fage Shfaftn 7/ ELECTRICAL ENGINEERING
36 The maximum value of power factor is

ufdrd ot @ fSrean T gmr 8 7

(A) 05 | SN 1
(C) 1.5 _ (D) 2.0
37 The voltage V,, in the circuig (which is a part of a larger circuit) will be
1
zr.A AN s:=0
a bﬁ" 2Q vV ,‘-9“‘\’:}
—‘—-—MA—-.-{—- ;L 3 "g _’___‘":.__-_--5—;‘
m : - . e
5A 602
W%’iﬁ(ﬁﬁwa‘%ﬁ*m%ﬂﬂ%)ﬁmvabw?
(A) 3 Volts (Iree) | (B) -3 Volts (dree)
BwrtC) 15 Volts (Aee) (D) -15 Volts (aree)

38 Solder is an alloy of :
(A) Copper and aluminium ° \@¥" Tin and lead
(C) Nickel, copper and zinc (D) Silver, copper and lead
Hee® TP UHR FHT AT B 7
(A) IR Ta TogAfam M) 91 wd ors
(C) frda =fax wa Rie (D) fRear, BfR Td oIS

2 4 INISITiAL TEeESISAncCes o1 dan 1acdl VUII.__HSC SOUrce 4dna an ageal current
source respectively are (in ohms) '
(A) 0 and oo B) Oand 1
(C) oo and oo \AF) oo and O
wm?a’ﬁémmﬁqﬁqmwaﬁam@ﬁ%muﬁmm
=1 8 8 (B #H) ? \%f l;:
(A) 0T (B) 07Td1 et
(€) = T o (D) o T O | ‘3”%‘5‘/

{ wWimcn Oor ine roilowing 1s ine GESGHPI!.OH oI 1argeSt S1Z€.TeS1ISTOT 7 { ZIVEDN Tnat = _\.’"
the material used in each is same)

(A) 100 Q. 20 Watts (B) .10 Q, 100 Watts

© 1K Q, Y warts D) ™M Q, }/ Watts
ﬁﬂﬁﬂﬁmmﬂa@m%ﬁ@ﬂm%%(ﬁwﬁ%
gt e ®) _ _ _

(A %0 Q, 20 9 B) 10 Q, lo0 T9€

(C) + B Q, 1/2 ae D) 1 3T Q,1/4 4e

EJE-2015 /B D } - 54 ' [ P.T.O.
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fag @it / ELECTRICAL ENGINEERING

A thermistor has temperature coefficient of resistance
(A) Positive - (B) Zero
¥ Negative (D) any of the above .
uep ooy N UfOREr TAUOHTE @ A BT quries BT B 7
(A) SFIRHS B ¥
4 (C) FRIUTHAD - (D) s7H ¥ B1E D 24
; Calculate voltage at point A Qe N~
A fig W dreest @1 aR&e Hio 2=
£ Yot
A B o 1&':}'&" T
<7 osisa T“—Pﬁl P AP
: ' | = i & Np*. ©
. ; = Np—YBT =
2A < T)2A x Yawrry Vo "B
0.026Q o1 x¥ Bl;a& or9s
-Vo _o !. I _qﬁf“ro g
» !olS y _ ’\P‘yp)" ﬂ_ﬂ'* &
2eoVs, (A) TSV @) -50V 120 ¥ ¥2°°
_e © 25V ; @O) -10V ~2© ia
A ) _9ce YR
=-43 The filanmient of an electric bulb is made up of tungsten because G
(A) It is cheaper (B) Tt is brighter 259 o Va
9 (C) Its melting point is high il (D) Its resistance is low __,c;\,acoqa
o ur faga dca @1 fharic e &7 gl Sl & «=ife -’“{;-;?

=
L]

(A) 98 HXIl B8l &

Va - (B) 98 THSIE BT B
P,L(C)WT{W&%@W%
- (D) SHHT ufeREr &= 8l §

-
“.‘ 44 Transformer oil should have
Ya = £ \\e®}) High flash point (B) High Viscosity <.
(C) High sludging tendencies (D) None of the above
Vg = 60 oipprir sifger # R enfav |

¥h=-t(A) e @ fig (B) Tod T
Vo= 1% oy wem wfol ==t D) A & e TE

n
g{ Three equal resistors are connected i_n' series, across a source of emf, dissipate'
10 W of power. What would be the power dissipalted when they are connected

in parallel across the same source.

@ﬁm@_tﬂ%%ﬂﬂwﬁéﬁﬁﬁﬁm@a%mwmﬁgﬂaﬁmﬁ

& frad Rga aw B0 Al oF S@ WA ¥ OR wWEERR # s

(A) T{;QW B) 30W ’IL.&_E@J
A8 90 W x5 (D) 270 W SECEEES) \
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Hgd T™IFHARA / ELECTRICAL ENGINEERING
An inductor is supplied with 200V at 50 Hz. The current flowing is

£

10 Amperes. The value of inductor will be o = 2
}—\r—\- /J

(A) 63.6mQ B) 20mQ g g ’l}

' \M63.6m Henry (D) 20m Henry B

47

48

49

50

TP UIP BT 200 dlee, 50 s mgfca av fRar wmar 8 ar SEd 10 gffgux %
ORT g8l 81 WS &HT HE BET

(A) 636 Freh o B) 20 BN 3 L Q{’,;:
(C) 636 fret s (D) 20 Y =9 x,,: %*?L{f %ﬁ(,
DC servomotors are used in : ;L *
(A) Purely DC Control systems
(B) Purely AC Control systems
(C) Both AC & DC control systems
(D) None of these
€. . ¥al Hiex &1 wArT 8[r 2 3
(A) ol S 9. s ey #
(B) Y v . g Red &
(C) =FEr T I uwd I ¥ s Raen
(D) 98 | HIs A8t
Which of the following material is not used as fuse material?
(A) Aluminum (B) Tin
(C) Lead (D) Carbon
ffr=ifea & & fPE uarR! &1 oA ogel gerf @ ®9 # T8 fFar sar
Bi— _
(A) vegfafam @) =
(C) ErHT (D) oA i
If the current flowing in the circuit shown is 2A, the value of resistance R
will be sif
arR s afRuer & 2 gffgar grRT s 8 o afeRer R &1 59 8rm
&V > -
24V —— rR ! %
-
(A 6 Q (B) 3 0
) 9 O D 12 Q
The Household energy meter is

( An indicating Instrument = (B) A recording Instrument
) An integrating Instrument = (D) None of the above

R, SOl WieX BAT B2

(A) TH ST s=Eire B) TH FHfEn =<

(©) Ut IR s=wEre (D) 38 A PE T8
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faga $ffafin / ELECTRICAL ENGINEERING

If Rg in the circuit shown in figure is variable between 10Q and 40€2, then
maximum power transferred to the load R; will be

%ﬁﬁquﬁq&ﬁuﬁRglonaﬁ?mQEﬁﬂaﬂﬁaﬁ%?ﬁ
e W Ry @ IafRa afSrman wks sri—

%
202) $ R.=100 L
1ot te A&
(A) 15 W (B) 1333 W . W
10 W (D) 24 W 2O A
The value of R, will be ' ¢
— N \
A i R - W T
aQ © "L/ o
T 200 e -
PR e | _ Y 5 B
TR i : sy
802 30
B e
Sae s # Rug @1 99 €
(A) 64 Q (B) 24 Q
(©) 144 Q o) 14 Q

53 A Q meter measures

\_/(-K'j ‘Losses in a capacitor
_(B_‘) frequency
(C) accurate values of electrical quantities
(D) Properties of the coils
U Q #Wex #Hiudr '
(A) Bafex s
®B) sngfes
(C) fagha =R/l @1 gg AmA
D) HiaA & oI BT

54 Permeance is analogous to

\#*J Conductance - (B) Reluctance
(C) Inductance (D) Resistance
duweTRrer SgeT = 2
(A) =dAHa & - (B) yufasew &
(C) WU & (D) ufeRer &

. EJE-201 5. fi_D]J 57 [ P.T.O.
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(A) 4 Q B s Q \];/"‘ i @
\
IE

frga Pt / ELECTRICAL ENGINEERING
The current I in the circuit shown is

2 ™ ™
o VA VW = w Ko’
: rd
2"

Sad o # gwrr I, 8rh

(A)_, 4A B -2A
€5 -4A (D) 6A

Synchro is :

(A) Parabolic transducer (B) An angular position transducer

(C) A synchronizing transducer (D) A wvariable transducer
A=spT &

A) WEIfes giesgaxr B) TH TER dohEE i
(©) s RprEfiT gresgER@@) o NRAed grasgEr o
Value of R is ,3, E
' ’ b -
:l-f)»x }V \’\’3__3 v
{ |y &7 ® h TS
ACD - Al 2120 ==&V T _%

C©) 8 Q : (D) 18 Q _
- v &
In star-star connected transformer. L B l; L
(A) Line voltage is equal to phase voltage . \} " ‘, . "
\_,687 Line voltage is equa.l to ,J?_, phase voltage %, o] ,Qﬁ "ﬂ_- T
(C) There is no line current o L _ \ \S\“'
(D) There flows no phase current - s o s - t?
P ORI-ORT 3MEg SFEHRR 3— P"(). :

(A) <TEA dlcedl %ol dicedl @ OER. BT &
3) aﬁam‘/—%maﬁma‘%mm%

©) ﬁ\iﬂﬂaﬁ?wqﬁsﬁt—‘ﬁ%
(D) BB M FHoll 9YRT B g8/ 81 BT 8

EJE-29SS /B D ) s8 - [PTO.
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Relative permittivity can be measured Dy r s
(C) Schering ]  rodaury o
RAofeg TTNETE BT ATTT cooeiiinnennneenes o g1 Ho S ¥ —

= = . i

The reluctance Of the MAagnetiC CIITUIL SHUWIL 11 g5 2o

In a transformer copper losses at full'load and unity p.f. are 300 W.
The copper losses at full load and at 0.8 p.f. lagging will be
frdl TTaBEER

¥ qrEEfy @1 7 Qe AR U e faeeie 9 800W

2| ofy MR gd AfRFUS 0.8 % ® a1 amefa &1 HE BFI—
s ax~ AAYET N 4 640W o e \_!’T (‘M “.O
(CY 800W : (L)) 2Zuuw e 'y .
motor is a constant speed motor e e s
-\_{,—JB Synchronous motor (B) Schrage motor (2 é L
(C) Induction motor (D) Universal motor @ -
(A fE=pr=E. HJeR (B) T1¥Haxwl #icx
(C) S—SaqIsl #Hicx _ T S S LI

Find total power consumed In tne circun giveu-

ﬁqwuﬁuaﬁﬁgﬁaﬁmwmqﬁaﬁﬂaﬁﬁm

-

> _—

7 1

- amwT

LN PARW
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frga S /- ELECTRICAL ENGINEERING
64 A 3¢ synchronous motors has been provided with damper winding. It can
be started as a .
(A) Simple phase synchronous motor
(B) 3¢ squirrel cage induction motor
(C) 1¢ induction motor

(D) 3¢ alternator

65 The gas filled in vacuum filament lamps is NP f;\ f e {:’L"
(A) Nitrogen ‘LB Argon YL\ gl & '
(C) Air (D) None
J7gH fhemic g & fom & 9 9 @ T 89 =S 2
(A) TTEgSE B) 3t
©) ag (D) &F 51

66 The wave shape of current flowing through an inductor is

e

o

The wave shape of voltage drop (V) across the mductor is
TEIHR SH UR® B WD W dlecdl-Uid (v) P A9 JER B A wE

R3LI- 1511 e
: iT”
(A) W( x/l
o T t o = t—3
| 1
|
©) v : (D) ._/] .
o - T T T

EJE-2015/ 1I_D ] 60 [ P.T.O.


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


67

69

AL

72

ISV VT /. LLLC LRKICAL KNGINEERING

The creeping is observed in
(A) Ammeter meter _ (B) Wattmeter

M) Energy meter () VoIt meter
W(W)Wsﬁﬁ@rﬁmﬁwwa‘_
(A) UHlex #Hrex (B) dreHex
(C) &l #Hex - (D) dreeMex
sLL alv lalups dice commoniy used in
(A) Photography . (B) Cinema projectors
(C) Domestic lighting (D) Street lighting
BEA JH AT BT UAET BT B .
(A) BREE A B) Ry ororger §
(C) =Rg umrer o (D) ESH HEHrET F
The energy stored in the magnetic fiel ‘)Q_Q‘.a moid 10c¢m long and Zcm

diameter, with 1000 turns of carryi
10 A &1 YRT BT a8 R ATl

(A) 1.15] 9
(C) 0.19] :

tlecprostatic instruments are used for measuring

AC and DC voltage .(B) ~AC Voltage and current
(C) DC voltage and current (D)« AC and DC currents
W@WWWE%W#WW%m

(A) AC 3R DC dreedar (’f AC dreear iR siRT

(C) AC drcedar 3R =T WB) AC 3R DC oI=T

The gain of an operational ampllﬁer will be maximum at-

(A) 1Hz ' (B) 50Hz

(C) 100Hz #D) DC

U ATUZHSA Qn'&ﬂtmuv BT T 3fPpas Srr— _ -

(A) Ts s ' (B) 50 ®dal \1/

(C) 100 s D) = & F cae X \D

Value of R in O : ~= d?'""‘) :

R &T §H9 Q & :— : 4@\19\
100 - ' ol R
e v %A i .&@ ’)f.k_] - |

e~ © L 4 LV

100V

(A) 10 @ e 20 ©

©) 30 @ D) 40 O

EJE-2015 / II_D ] 61 [ P.T.O.
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Distribution transformers have core losses-

(A) More than full load copper losses

(B) Equal to full load copper losses

(C) Less than full load copper losses

(D) negliglble compared to full load copper losses

_ # fFah ws s 8t 87

(A) 9o 9R FlT-SI gl @ 3

(B) I ¥R dw s @& gvEw

(C) Y ¥R @ sfEr I -9

(D) Yot wR am s @ geen § e

Which one is not a basic logic gate?

(A) _AND gate (B) NOT gate
L7~ NAND gate (D) OR gate

S W B A difre e TE8 B

(A) AND 7IE (B) =fe Ae

(C) T Ae (D) 3R e

Tesla is same as

(A) weber/meter ‘“-.M weber/ (meter)?

(C) farad/ meter (D) Henry /(meter)?

THSAT fpasd TF i &) _

(A) TR/ Hex (B) qER/ (HIeR)?

(€C) WIS/ Hex D) &¥/#Hex)?

What are the advantage of DC transmission system over AC transmission

system?

(A) DC system is economical_ for long line
(B) There is no skin eflect.in DC system

N7 Corona limits are highest for DC circuit as compared to AC circuit

(D) Ali of the above

T Wﬁrﬁrﬁwﬁwsﬁ@mm%mamﬁ?
(A) I/ gl fFerd 8 o gf & fag

(B) N vome A HE @l gwrg A8 DGr

(C) =1 Wy of. wfFe H gan a4 oWo wi¥e F D 2
(D) Sugad 94

NMI stands for

(A) Noo-mask interface \yﬂm—mkeaue interrupt
(C) Noo-mask imeraction (D) Nomne of there

NMI *F7 “oFe &

(A) HF ORE ITIBS (B) A ARDPAA ITIC
(C) =i A T<=xas = (D) ®1F A&

The dissipation factor of good dielectric is of the order of
W TP P U HRPB B A B T

(A) 00002 (B) 0.002

(C) 0.02 (D) 0.1

EJE-201§ / _D ] 62 [ P.T.O.
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uLer voltage unaer exira mgn volitage arc-

(A)Y 1KV and above (B) 11KV and above

) 132KV ana aoove A7) ' IDUNN Y dIld duuve
affaRaa S=a dieces & 3I<ilad dleew &8kl & |
(A) 1 A IR FHU (B) 11 &4 3R W
(C) 132 Pdl IR Hux (D) 330 dl $HIX HhuX

80 A passive network is one which contains
(A) Umy VAaridole r1esisidance

(L) UMy IWO SOUurces O1 ©mi i it
@Y No source of emf in it
Udh YliHd +Acddr BIdl & 1914

l\n} b B R | e B R B B LS MAININI= ol \u?‘ ‘1""1\11 ‘1-6!_' wLLLL RN B
(C) Had &1 emf € (D)  BE emf W |
o1 LOdl usea 11 pUWUl plalll. IS didSU KIIOwIl as

(A) Steam coal (B) Charcoal

) woxce \A#) owuLL vual o
mmﬁmmﬁﬂwﬁﬁmmﬁ
(A) H FR1IAr (B) TR®PIT

(L) i PR ) SN R1IUCH

82 If the height of transmission tower is increased. which of the following
: 'pﬂl'ﬂlllclcl 15 I..l.lkﬂ.ly LU Cllaicy {

w Ldapaciitalive \.l...r} INUIIT Ul LT AUU Vo

LAY X : W) |TSWCTXL
(C) dufbe— (D) SuET #H \ef Eﬁlé H’é’f
83 O{;?»Maxwell is equal to
oA 10-8wehers (BY 10%webers
(L) 1U™webers (L) 1u~wepers
(AY 1078 €9 .. - (BY 10% -g€9
{C) 10 999 (D) 10¥ 499
84 Which of the following is not part of diesel engine power plant?
(A) Cooling tower (B) Penstock
T A P W SISl 391 Teiell HUd ) sl A8l s
(A) FHBfeiTT TEax : '_(B) qac ® : ;
s A 6 B

\C v
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ACSR Conductor having 7 Steel strands surrounded by 25 alummlum
conductor will be specified as
25 THIFIH emer A foRT 7 ®&a1 |ve ACSR T fra ave fafde

a1 SR ?

7 | . L
A 33 | ® 33
25 2s
W = o)
Which of the following primary cells has the lowest voltage?
{A) Lithium (B) Zinc- chloride
{C) Mercury (D) Carbon-zinc
e 3 @ fra ot e 3 atw <gmoa @7
(A) cOfems B) Gie—adREs
(©) #&Hq (D) FHEI—HTH

Compressor used in gas turbines is
(A) Reciprocating compressor (B) Plunger type compressor

(C) Screw compressor (D) Multistage axial flow compressor
T eEEa A sREE Y 9 g9len pEEr 2

(A) BT eRER (B) <ol TIEY HOER

(C) Y9 HYER D) HERT INT ydiE HERR
Steel poles for transmission lines need protectxon againsi-

(A) Termites (B) Borer

(C) Corrosion (D) All of the above

oRyor FsHT @ foig, mﬁqﬁaﬁﬁmﬁwaﬁmmm%?
(A) ¥ (B) IR

(C) i (D) TUdET

In a system if the base load is same as maximum demand, the load factor
will be .

) 1 (B) Zero

(C) Infinity (D) 1 percent

9 oIS AfHEH Wi B w9 7 A L, O v woneh W oite daee &9
(A) 1 . - B I

(C) s (D) 1 ufree

In the analysis of short transmission lines, which of the following is neglected?
(A) I?R loss (B) Shunt admittance -

(C) Series impedance (D) All of the above
agnﬁfmma%ﬁw@mmﬁﬁmﬁﬁﬁma%@aﬂa%ﬁél
(A) I’R BISY (B). vic vsiHe=

(©) sEar ufasmwer _ D) SUART T

EJE-2015 / ILD } : 64 , [ P.T.O.
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(A) the same as trequency

"\f’; EMING LA LA WASTLIL LML W Wl R ey e

u3

95

(C) expressed in amperes ' L

(I3) N9 TGP X1 WIXTT Y2 AWIN Yo T

CELPeep =92

UG PUWETT 1GULUL WE @ DYDIUWAll I 6 TTWW ¥ ar & IO, WL L, 515 YYAMSAL LA
amm:ter indicates 100amp and watt meter reads 62KW will be

1PN MY 9217 949X g oxX 9y~ D1t ‘fll‘-’t MPIINI TN SOV HqIve, 0‘1“:”, o
&G U¥ UHIER 100 Amp 3R @l 62 KW &1 afS. fRarar 28
(A) 095 Y 0.78. o ey L) | SR

w2
—le

A U 1 15 connected in { wiin tne nne

(L) Both A and B _ r) WOt conneciea
s CT % & P ————H JSI 3 §|
(C) A IR BESE ¥ £58 D) #8881 8§

(A) Cross magnetizing m(B) pemagnernizing

T BT 9l #HIA BT HTIW YIiArEpdr &
(A) DI HIACISIVII (B)  ISHITICIgIvT

\\.,_’ T IRIVI T sy AT R S A AN ] b | ~ 0 e R L= 4 s

When alternating current pass through a conductor
fAY Tt remaine nnifarmlv dictrihnted thronchout the section of conductor

A %) Portion of conductor near the surrace carri€s more current as comparea

(C) Portion ot conductor near the surtace carries I€ss current as comparea

(D) Entire current passes through the core conauctor

N MDA g TR 0 AN I - '-5Vl\\ll L Al e ]

(AY TR TOHF S0 O dHsSaed B OaRT ww 7 afRa wsar 21
(B IR Bl a1 8 HA8 &6 UrH AEh ERT 8T 8§ |
(L) ¥ e gﬁ"l"” H OEHAOE 9 YIKG 9t "I BI85 )

\L7s) b bl =% b Bl LY b L8 Y %1 3“"‘" =
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ST s smav AL LNGINEERING
Inductanca fisrnonan . -7
vy aviemng of aluminum B) Heating of insulator

(C) Heat treatment of casting (D) All of above
WRYT Wfeedr gapr fFar wrer 2
IEE IR o o

_ =TTt wucigOd gives uniform speed variation
(A) In one direction (B) in both direction .
(C) below normal speed only (D) above normal speed onls-
TS AT Afer > o e~ - affsiimy, MR BT B

ey I ] e A TN me— L~

)

oY EREI IS fere ST
() ¢

NG RicGie

Ay a g eating, the Electrodes used ate ‘made of-

(A) A_luml-ninrn

) : ‘ \-l-l}- \Jrapmte
AH BT & e & O C sk aMI BI B

A) TsaNisgs . ) T

o Lfiaustunung electrical power in India js

TR T S R e ot

" YT tewaus 1 oare at a distance D, the Capacitance

between the two is proportional to-
8 : AN RISy RS

wouwiett Pl JTHYNES 2
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faga shf@aftn / ELECTRICAL ENGINEERING

LI PUWEL LALVLUL  VVILL Ub GuGisaiag  sos Sesears =

(AY TIndunction heating (B) Resistance heating
_(C) Dielectric heating () EIECIrc arc neaunyg
graRk Bael T+ H ThH IIa 4 siuvn it o

(A) WRIT ™A (B) HiaxmE oo

(C) SiSsSdlidgd S™HA () sQlggd Sie 0w

‘The lIow power Tactor OI INMUJUCLIVIL HIVLUL 1D Uuw
L) ULV ITARAe 1 vaviaiine

(R) etator reactance

. ) the reactive lagging magnetizing Culreént necessary 10 gougiaic e

MagieLc Lux
SEaeTa "HIEY BT gray hae]d = A hl ThH hRUT 8§ 81dl &

m\  wwee Roerw

(\  Prarafes vetad UeT $Re & AU Mazad IRUdCd FET #HIACIRivi
HNE

(MY  IuRTaa a4l

104 Alternating current is transmitted at high voitage
(A) 10 sateguard against purcrage
(D) 1U HNIEUIIUAST U GUDIIIIIIV L AWz
LS anr a e S —
(D) To make the system reliable
yaaTadl SIRT bl UNUT 3cAEch $Tr dieTl 44X 1wyl vinn o —
(A) TR PH TEAT® WET b 1y
(B) WHTRUT BN BT HH HRA @ Iy
(C) JdgA Bl &drfTd BH dhIXT b Iciy
(DY WOTAT b7 fagadaaa 99111 @@ 1@l
riouam— = B vauIn @i maavicaly Suitoa AL v YUAtGEY Up U
(A) Delitea caoless (I3) D>creenea cabples
WL 11eoDwIT vauled WUr ) IO UL Liaeas
ITITHNVIITEN YSIVTE Y S T VI XTI LKV NY Y2 YL Y 1y
\}"\) e RSP - e B B R | “D} T HAa=
VL) HAXIX YIS L) 2T X1 oYy Mol
EJE-LVID 7 1I_Ww | ors

L™ LU
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- A - e

AW 7

o>

. T TTT TTTmeew an oTLISS, wieTe Total value of capacitance-
(A) Remains same (B) Reduces

—

YT TSRS A e A oY TSy R =N s e

s e (D) S99 9 2 T8

11 an e1ecro dynamometer type Watt meter if the voltage and current measured

arc BIVEIL DY ¥ = 100sin314r and 7 = 10sin{3147r — en© ) _ ot

qmsmﬂmwmﬁaﬁmwenwmﬁm%

N =Y ] ©O9C HICR Bl TSI (Jreq

— W)  <£DU (D) 433 i

Tt T SYARive s CHCULE WAER, Supply voltage of 'SV, the voltage across the |
resistance ‘R’ is 3 V.ABRSSNItacm o caes To b i 1

T KoL YD RERTSTE) DeceT SV 8| R R’ ) dreedr J
3V?TFﬁ'L'$‘3IWWﬁ5ﬁ=ﬁEhRTIT€Fﬁ? N
Ihe domestic electric supply is what value of A.C. supply I
(A) Average value (B) Mean vahie

TR T WA9W B oIeeINga 9o AC o B oW A sl & 2 l

f AN DA T

R — e ome W TRy T el | ol ) (D) @TW. 3:"'—‘[

in e measurement of 3 phase power by two watt meter method, for an
unbalanced load, the power factor of the load is

. SRS T Th NOgIEKT WY 8 W wr
P —— s ~ i3
i | | TETESIESIDTRSE)) YR TRl e ] 1

2z S \rr) INone ot the above 1
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faga SAP@FET / ELECTRICAL BNUmimmama =
The doping material for an N—type semiconductor is
) Pentavalent (B) Tetravalent
(C) Trivalent (D) Bivalent
mhf—qaaﬁé:‘aématﬁzﬁﬁm.qﬁ'ﬁaw%?
(A) 9T |IM@ — e )

(C) s (D) feEacT®
Damping torque 1s esscuuar v

7 AX" Tncorease nscillation

3B) Keduce Osuluauv

/\ Maintain Oscillations unchanged

(D) None oL wese

ST =185 HecdUYl & Hifh TS —

(A) I deial ©

e afefArEE AR el 8
(M 3AH | PIg sl

In which of the following INStruments, @ wisv &= pam==s:

(A) Ammeter . @B) Voltmeter

(C) Wattmeter ' : Energy meter

fre 3 @ fru SUDEl H UH fows Bl 8 7

(A) THIR (B) dleeHey -
(o aTEEeR (D) FFSIHIER (SoTETd)
Two coils have self-inductance

S Ll and L.z nenry lcapcuuvu._,..

coils are connected in series and the Mutual inductance between then is M

henry, the value of maximum resultant inductance of the combination will

be

21 gusfedl & wud AT LlQﬁLz%’ﬂﬁ%lWMﬁaﬁ
nﬁaﬂzﬁmﬂmqwﬁiﬁwaMgﬂﬁaﬁmuﬁmﬁWm
affSrpad AT ¢

(A) L+L,+M A@y~ L,+L,+2M

(C) L,+L,-M (D) L,+L,-2M

Stepping up of voltage qurng tiansuusssss

(A) Increase efficient power transfer
(B)Y Maximum power transfer

& A ww e —

(D) To reduce vorage 103>
e & W dieed 1 wu g fear Swr ® 7
ray vERme dfar gieR dgm @ fom

(B) H#HIFEHAH Ulax gIves

b b LI B

an)Y

A o™ PH BRI D 1y

fa Lo
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Th
Wwvﬁa?asmfrsoaaawm%l*ﬁaaﬁmﬁg%
(A) -2.439% B) 2.43%

(D) 4.86%

\N-"\(C) -4.86%
Q,L"’ 117 What is that property of a coil ¢
f current flowing through it, a v

as the neighboring circuit?
(A) Resistivity '\Mlnductance
(D) None of the abov

©) Charging
ﬁﬁiﬂ&jﬂ@aﬂzﬁwwaﬁwmﬁ%ﬁﬂv@muﬂ%ﬁ
wﬁaﬁa@%wa@@wﬁmmmwﬁ%ﬁﬁﬁﬁ%
91 ST 8 ofar & 7

Ay AN ISy (B) Uy

(©) =nfSfar M) TF5F o =4

118 Synchronous speed equation is

R=pa e @1 wfiewor Sier & o

) VS = Emeemm (B) Ns= —
AR g £
.*
(C) - v=N I&E o (D) Ns = o

1y A - series motor is best . suited for

: High starting torque requirements
(B) - Low starting torque requirements
(C) Constant snead

ey xgIl bpeeﬂ 3
w@.@‘m(@%)maﬂaﬂmm%?
(A)WWEH—?%T%@(B)%W' b HfT By

© Rer wIfy &g (D) s=a Ify &g
@ Three currents i, , i, and i3 meet at a node. If i 1=10 sin(400t+600)A and
i,=10sin(400t-60°) A then iy=
' 1=10sin (400t+600) A

G oa=g iy i, TF iy UF TS uR e I8 & apw
Q& i,=10sin(400t-60°)A & oy L &1 #F Erm Qfaay )
(A) 0 w~ (B) 10sin400t A

(C) -10sin400t A (D) -5./3 sin 400t

EJE-2015 / 1_D 1
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Hya Siidiui / RLEC IERKIUCAL RINOLINLEDISENG

@' Which of them is peak load station?

1ZZ

123

. (A) Small capacity thermal plants

(B) Diesel stations
Run off river plant

(D) All of them
FH 9 NIp T WIH P ' ?
(A) HH &gHdT B OHd Wic (B) Siold I E

v ) XTI XIMY W ) TMRIMAML O W
in wnicn 1ype OI Irequency meier, ine imre(uency 1s iouna wien e Lorgjuc

¥z Y] Viviauug 1Seu Ly pe

(B) Permanent Magnet moving Coil type s

\L7) LICCLIICAL 1e50alIive Lypo

1 ® @ fpw smavea A1d eRT Efa BT HIUH O BUSell H STeoT

P RY &1 VI UX Iyl vl & F
(A) HHAHRT I gHUl B) W FgEHT I Foscll IUAA
(C) =1 <iig goul (D) JPa AR B

Which three phase svstem does not contain neutral?

\el¥y Delta

124

"\ 1LZS

Raoth dao nat contain (star and Delta)
(V) DOIn (Slar and ueia) contain

fra oo Res #§ S| (|gd) A8t 8ar ?
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